1 1TL67 (K1 1n67)

l/ﬁ Linearized knot diagam
AN AR

. 5 1 9 2 10 9 1 3 6 1 7
9 7? \1(1 /
/ —
U" Solving Sequence
510526 >4—>1—>9—>7—3—>11 > 8 —> (2,(8,C10
Cs5 Cq C1 Co C6 ¢3 Ci1 (7

A knot diagranﬂ

Ideals for irreducible component#ﬂ)f Xpar

I = (—53523809u' + 113678375u'? + - - - 4 2227279840b + 1256772587,
— 7347336541u*® 4 1342774531102 + - - - 4 757275145600 + 1617396731,
ult — 2ul3 o 24u 4 17)

I = (b+1, —u®+20° + 20— 3u+5, u* — v’ +3u” — 2u+ 1)

If = (—a®u—2a® + dau+ 5b + 3a — 5, a® — 3au — 20° + au —a+u —2, v’ + 1)

* 3 irreducible components of dim¢ = 0, with total 24 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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L
It = (—5.35 X 107u'3 +1.14 X 1034’2 4 - . - 4+ 2.23 X 10964 1.26 X 10°, —7.35 X
1043 41.34x 101 % 2+ . -4-7.57x10'%a+1.62x 107,

(i) Arc colorings

= (o)

o= ()
0.0970233u3 — 0.177317u!2 + - - -
az = \0.0240310u*3 — 0.0510391u2 + - - -
= ()
0.0860286u13 — 0.162052u'2 + -
as = \0.0297616u3 — 0.0719847u'2 + -
0.0390836u3 — 0.0710568u'2 + -
a1 = \0.00745046u'® — 0.0211156u'2 + -
ayg = (u3 )
U
ar = \yt 4+ 2u
0.0815510u3 — 0.158251u!2 + - - -
az = \0.0311547u!3 — 0.0816865u'2 + - - -
0.0118356u!® — 0.0182548u'? + -
—0.004121414" + 0.0230782u'2 + -
—0.0299569u'% 4+ 0.0755900u'2 + -
0.00941903u'3 + 0.0187909%'2 + -

o

(ii) Obstruction class = —1

159749339 ,,13

0.0299569u13 + 0.0755900u'2 + - - -
0.00941903u!3 + 0.0187909u!2 + - - -

841106653

ult—2u13 4. . . 424u+17)

=+ 5.72525u — 0.0213581

+ 0.391365u — 0.564263)

-+ 4.32173u + 0.0613420
-4 0.0943418u — 0.681013

-+ 3.02865u + 0.931294
-+ 0.794129u + 0.282743

+ 3.40648u — 0.102474
—0.621089u — 0.757212

-+ 1.04576w + 0.329948
-+ 1.46293u + 0.190664

-+ 0.453086u + 0.932725
-+ 0.243684u + 0.271269

+ 0.453086w + 0.932725
+0.243684u + 0.271269

20311908351 ,, _ 30534615889

(iif) Cusp Shapes = 75555675

T 8909119360

24 ...

8909119360 8909119360



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy Wt =B+ 3u+4
C2 u' —3ut . —127Tu 416
c3,Cg ut + 8ul + -+ 80u + 64
Cs5, Cg, C9 =2+ 240+ 17
c7,C11 ut =B 120417
c10 u' — 4u’® 4 -+ 2066u + 289




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 M 43y 4+ 4127y + 16
C2 Yt ATy o 32223y + 256
3, C8 Yyt — 429" + ... 4 4864y + 4096
14 13
Cs,Ce, Co y o428y + -+ 4+ 2994y + 289
cr,c11 Yyt — 4y + - 4+ 2066y + 289
c10 Yt 4 52913 ... 4 189758y + 83521




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + v=1CS)

Cusp shape

u = —0.739038 4 0.2982761
a= 0.673213 — 0.3158211
b= 0.313142 — 0.7024571

0.02319 + 2.219391

—1.77809 — 3.539921

u = —0.739038 — 0.2982761
0.673213 + 0.3158211
b= 10.313142 + 0.7024571

0.02319 — 2.219391

—1.77809 + 3.539921

u = —0.267566 + 0.6687391
0.619498 — 0.2235901
b= —0.172651 + 0.2685321

a =

0.212568 + 1.2854801

1.55268 — 6.089411

u = —0.267566 — 0.6687391
= 0.619498 + 0.2235901
—0.172651 — 0.2685321

0.212568 — 1.2854801

1.55268 + 6.089411

0.01822 4 1.4181171
0.361569 + 0.4147251
0.983382 — 0.463084.1

5.01039 + 4.245041

1.99936 — 6.804131

0.01822 — 1.4181171
= 0.361569 — 0.4147251
= 0.983382 + 0.4630841

5.01039 — 4.245041

1.99936 + 6.804131

= 0.120536 + 0.4527121
= —3.28623 4 1.156131

—2.12302 — 0.757531

—7.75042 — 3.067481

0.120536 — 0.4527121
—3.28623 — 1.156131
—1.024040 4 0.1631481

—2.12302 + 0.757531

—7.75042 + 3.067481

0.60560 + 1.932121
0.342835 — 1.0471201
1.50068 + 1.044791

—19.4276 — 10.65031

—1.06301 + 4.039631

0.60560 — 1.932121
= 0.342835 + 1.0471201

b

U

a

b

U

a

b

U

a

b= —1.024040 — 0.1631487
U

a

b

U

a

b

U

a

b= 1.50068 — 1.044791

—19.4276 + 10.65031

—1.06301 — 4.039631




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

1.05779 + 1.838051
0.405077 — 0.6801231
0.63249 + 1.721091

9.20003 — 2.068521

0.364251 + 1.1278321

1.05779 — 1.838051
0.405077 + 0.6801231
0.63249 — 1.721091

9.20003 + 2.068521

0.364251 — 1.1278321

0.20446 + 2.509271

= —0.130671 + 0.6822931

1.26699 — 1.743721

—17.5696 — 0.38251

—0.199766 +- 0.0455471

> Q@ €|l @ €|l & &> & &

0.20446 — 2.509271
—0.130671 — 0.6822931
1.26699 + 1.743721

—17.5696 4 0.38251

—0.199766 — 0.0455471




II. 1 = (b+1, —u® +2u®* 4+ 2a — 3u+5, u* —u® + 3u® —2u+1)

(i) Arc colorings

0
aio = \u
bt =+ du -}
a2 = —1
1
ag = \y2
b= fu—
aq = —1
-1
a1 = 0
U
ag = \uyd+u
u?+1
ar = \y3—u2+2u—1
b+ fu— g
as = —1
—u
ail = U
ag = <

(ii) Obstruction class =1

(iii) Cusp Shapes = Z¢% — 11y? 4 52y — 33

4



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u—1)*
4
C2,Cq (u + 1)
C3,Cg u4
Cs5,Cg, C10 w—uwd+3u?—2u+1
7 ut —ud 4wt 1
€9 w4+ +3u 4+ 2u+1
c11 wrtudru+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 (y_ 1)4
C3,C8 y4
Cs, Cg, Cg y4+5y3+7y2+2y+1
C10
cr,en v Y+ 3+ 2y + 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

0.395123 + 0.5068441

= —1.92796 + 0.413331 —1.85594 — 1.415101 | —3.26394 + 5.889341
= —1.00000

= 0.395123 — 0.5068441

= —1.92796 — 0.413331 —1.85594 + 1.415101 | —3.26394 — 5.889341
= —1.00000

= —0.322042 + 0.1577801 5.14581 — 3.163961 2.13894 — 0.112921
= —1.00000

= 0.10488 — 1.552491
= —0.322042 — 0.1577801 5.14581 4 3.163961 2.13894 + 0.112921

U

a

b

U

a

b
uw=0.10488 + 1.552491
a

b

U

a

b = —1.00000
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III1.
IY = (—a*u—2a*+4au+5b+3a—5, a® —3a’u—2a’+au—a+u—2, u?+1)

(i) Arc colorings

0
a10 = \u
( a
as = 1.2 2,2 _ 4., _ 3
2 sa°u+ za sau— za+1
1
ag = -1
(ga2u + %az + %au — %a
ay = 1.2, 3.2, 6 7
4 sa‘u sa +5au+5a
( u
a); = 2,2, 1.2, 2 4
1 fa*u—sa” + fau+ za+2
U
ag = 0
0
a7 = -1
(—?aQU - %aQ + %au - %a
az = 1.2, 3.2, 6 7
3 sa°u— ¢a +5au+5a
U
an = %a2u+%au+~- +%a+2
( 1
ag = 1.2, _ 4 24202
8 sa‘u 5au+ +5a +5a
1
asg = %a2u—§au+ -~+§a2+ga

(ii) Obstruction class =1

(iii) Cusp Shapes = 2a?u+ 2a® — 2au — 2a

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

! (u? 4+ u? — 1)?
€2 (u® +u? + 2u +1)?

c3,Cs u —3ut +2u% +1
€4 (u? —u? +1)?

05,06,67 (u2 +1)3
Cg, C11
C10 (u — 1)6

12



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1, (v’ —y* +2y—1)°
©2 (v +3y* +2y - 1)°
€3, C8 (v° = 3y* +2y+ 1)
C5,C6,C7 (y+1)6
Cy, C11
€10 (y—1)°

13



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C5)

Cusp shape

U = 1.0000001
a= 0.684841 + 1.0825001

b= 0.877439 — 0.7448621

3.02413 4 2.828121

—0.49024 — 2.979451

U= 1.0000001
a = —0.439718 — 0.4072211

3.02413 — 2.828121

—0.49024 + 2.979451

b= 0.877439 + 0.7448621
U= 1.0000001
a= 1.75488 + 2.324721 —1.11345 —7.01951 4+ 0.1
b= —0.754878
U= — 1.0000001

a= 0.684841 — 1.0825001
b= 0.877439 + 0.7448621

3.02413 — 2.828121

—0.49024 + 2.979451

U= — 1.0000001
a = —0.439718 + 0.4072211

3.02413 4 2.828121

—0.49024 — 2.979451

b= 0.877439 — 0.7448621

U= — 1.0000001

a= 1.75488 — 2.32472] —1.11345 —7.01951 4 0.1
b= —0.754878

14



IV. u-Polynomials

Crossings u-Polynomials at each crossing

€1 (u—1M W +u? = D2 = Tu'® + -+ 3u+4)
2 (w+ DM + 0 + 2u+ 1)%(u* = 3u'® + -+ — 127u + 16)

c3, C8 ut(u® — 3u® + 2u? + 1) (u' + 8u'® + - + 80u + 64)
C4 (w4 D)MW —u? + 12w = Tu'® + -+ 3u+4)

cs, Co (u? 4+ 1)®) (u* — v + 3u® — 2u + 1) (u** — 2u™® + - 4 24u + 17)
cr (W 4 1P) (it~ 4 u® + 1) — 2% 1 12 4 17)
€ (u? 4+ 1)%)(u* + ud + 3u® + 2u + 1) (u** — 2u™® + - 4 24u + 17)
10 (u—1)%)(u* —u® + 3u? — 2u + 1) (u! — 4u'® + - - - + 2066u + 289)
cn (W + D)3 (u* +u® + o + 1) (u =20+ — 120+ 17)

15



V. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, ¢ (v = DY = v* +2y = 1)*(y" + 39" + - + 127y + 16)
C2 ((y — DY@ + 352 + 2y — 1) (Y™ + 479" + - - - + 32223y + 256)

C3,Cs v y® = 3% 4 2y 4+ 1)2(y' — 423 + - + 4864y + 4096)

c 6,4 3. ... 14 13 ...

55 C65 C9 ((y+ 1)) (y* +5y° + -+ 2y + 1) (y'* + 28" + - - + 2994y + 289)

c7,c11 (y+ D) (y* + % + 3y + 2y + 1) (5 — 4y + - - + 2066y + 289)
10 (y = D°(y" +5y° +7y* + 2y + 1)

(Y™ + 52y 4 -+ 189758y + 83521)

16



